Spring semester, 2024 Soonchunhyang University
Java Programming Department of Al and Big Data
Supervisor: Professor Byeongjoon Noh
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Enter an integer: 4

Output: Even

Enter an integer: 3
Output: 0Odd

Enter an integer: 6

Output: Even
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Enter an integer: 6
Output: O0dd // Incorrect

Enter an integer:
6 // newline with string literal and input value

Output: Even

7 // input format is incorrect (need ‘Enter an integer:’)

output: 0dd // ‘Output:’, not ‘output:’

Enter an integer: 6

Output: even // ‘Even:’, not ‘even’

Enter an integer:6

Output:even // no space after the colon ‘:’. space needed after the colon
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Table 1: 91&9 oJA] (* ‘Input: ’, ‘Output: *o] HIEA] FA|E[ojof oz 14 H)

49 &9

Input: 9474 Output: Yes
Input: 1 Output: Yes
Input: 51 Output: No
Input: 3 Output: Yes
Input: 370 Output: Yes
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Table 2: Y& o A] (* ‘Input: ’, ‘Output: 'o] HIEA] FA|E|ojof Ato 7 QA=)

A4 =9

Input: 5 Output: Yes
Input: 1 Output: No
Input: -4 Output: -1
Input: 15 Output: No
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Table 3: 4=2 A A] (* ‘Input: ’, ‘Output: '0] FIEA] EA|Fojof Ao g2 QA=)

bk =9
Output:
5%1=5
5%2=10
5*%3=15
Input: 5 5% 4 =90
5%5=25
5%6 =230
5*%7=235
5*8 =40
5%9 =45
Input: -3 Output: -1
Output:
9*%1=9
9*2=18
9*3=27
Input: 9 9%*4 =236
9*5 =45
9*%6 =54
9*7 =03
9*8="T2
9*9 =281
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e —1,000 <z <1,000;2 # 0
e —1,000 <y < 1,000;y # 0
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Table 4: 9122 oJA] (* ‘Input: ’, ‘Output: 0] BFEA] FA|E|ojof Feho g <14 =)

A4 =9
Input: 5, 3 Output: 1
Input: -94, 5 Output: 2
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Assignment A|Z7]3: 4 199 QA 10A] 7H4]

Assignment01 AM§AZRE HZ7H0] ol(N)S QAT 19 97449 2412 42 Ao}
2o AZ 7YY o o214 0 2 &85 DisplayTriNumber S| A& 25 Q.

o 5719 th2 ThA] A5 E 12 ARttt

o A% 9] e meshA o

Table 5: Y= AA] (* ‘Input: ’, ‘Output: 0] HF=A] EA|E|ojof Hto g Q1A =)
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Output:
1
Input: 5 2 3
4 5 6
78 9 1
2 3 45 6
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Input: 20 Output: 20 =2 * 2 * 5




Input: 320 Output: 320 =2*2*2*2*2*2%*5
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Table 7: 4&2 dA] (* ‘Input: ’, ‘Output: '0] FIEA] EA|Eojof AFo 2 QA=)

a9 &9
Input: 5 Output: 2 3 5
Input: 15 Output: 2357 11 13
Input: 1 Output: -1
Input: 3 Output: 2 3
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Table 8: Y= A|A] (* ‘Input: ’, ‘Output: 0] HFEA] EA|E|ojof HFo g Q1A =)

o =9
Input: 3 6 Output: 5
Input: 11 7 Output: 13
Input: 1 2 Output: 1




